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[TpeobpaszoBaHne TOYEK.

% [lepeHoc:
[x*y*] =[x y]|+ la b] = [x+a y+D]

[Mpeobpa3oBaHue obLwero snaa

[yl [2 0] = [ax+cy)  Gx+dy]= ¥ y]

* OtcyTCcTBME ABUXKEHUA
1 O x Lk
[x y] = [0 1] = [(Ax+0y) (0x+1y)| == [x" y']



s MacwTabuposaHue

eyl [0 9] = [ax+0y)  (Ox+1p)]=[ax yl=[x y'

x vl [§ O] = [ax+0y)  (Ox+dy)]l=[ax dyl=
= [x* y7]
 OtobparkeHune
eyl+ [0 7] =[x +0y)  Ox+1p)]= [-x ¥
= [x* y]
* Cpasur
ey« [0 = x  Grepl= [ y]



[lpeobpa3zoBaHne eQUHUYHOTIO

KBaApaTta
A | 0 O] 0 0 A"
B 1 0 a bl _ a b B*
C - 1 1*[c d]_ a+c b+d|lT C*
D 0 1 C d D
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BpalieHue

cosf@ siné
—sin@ cos#@



Bpal_l_l,eHI/Ie

* Mosopor Ha 90° [—01 (1)]

* NosopoT Ha 180° [_01 _01]



OToOpaxeHue

* BpaLLeHMe BOKPYr IMHUM Y = X (1) (1)

B [1 0
* BpalleHue BOKpYr iMHuny = 0 0 _1]



OgHopoAHble KoopaAUHATLI

R =P+T, P=P-S, P"=P-R
[lepeHoC

Ix+m y+n]|=
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= [x* y7]

MaTpuua 3*3
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OgHopoAHble KoopaAUHATLI

[x y 1] Ix+m y+n 1]=

it
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=[|x* y

~ 3 oRr

=X Y H]
X Y

[x* y* 1] T

OAHOPOAHOE KOOPAMHATHOE BOCNPOU3BEAEHUNE
|hx hy h]

~ hx _ hy
T YT
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MaTpuua npeobpaszoBaHmAa obllero snaa
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[x v (px+qy+1)]




pX+qY-H+1=0
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H pX+qY+1
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xy1] = [x/s y/s 1]
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[1BymMepHOe BpawleHue BOKpPYr
NPOU3BOJSILHOU OCHU

1 0O O cosf@ sinf@ O 1 0 O
x y 1]-1 0 1 O0|'|—-sin@ cos® 0|-|]0 1 O

-m -—n 1 0 O 11 m n 1

X Y H]=
cos @ sin 6 0
=[x y 1]- [ —sin @ cos 6 O]
—m(cos@ — 1) + n(sinf) —m(sinf) —n(cosf—1) 1
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